BOX

SCORE TR28FEERAFELE)— B

F285108 98

FI18  HBA 201610 9 218 KEGHEAT a—+ A
HErFRE 13:00 3&No. 363
m 1 [EE 30 — 15
KR T A 76 13 - 14 50 ARHIAS
20 — 10
KRIEXE

No | EF4%& (player) S PTS 3 POINT 2 POINT FT PF
3| AR Rm 4 1 0 1 0
B4 FiE * 21 0 8 5 0
8 | lUA #hEK * 4 0 2 0 0
13 | B3 R * 15 0 6 3 1
17 | &M@ Eth * 8 0 4 0 0
22 | & BA 1 0 0 1 0
26 | RE 0 0 0 0 |
3| BEX Fz 5 0 2 1 1
42 | R E=HE 3 0 1 1 0
50 | AT BFER 0 0 0 0 1
b5 | K#E &R * 15 0 7 1 1
77 | BIR H#E 0 0 0 0 1
= £ 76 1 30 13 6

S(R94Y) :PTS (#2745 52) 1 3POINT (R Th%K) : 2POINT (R Th%k)

FT(Z1)—x0O—) :PF(79l)
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BOX

F285108 98

SCORE FR28FEFEHFE)— 5
F£118  XEAB 2016.10. 9 &35 KEBFEKRF a—hkFA
HErFRE 13:00 3&No. 363

m 1 [EE 15 — 30

KBRAILKE 50 1; — 13 76 KBRILEKZ
10 — 20

KRR K&

No | ZEF4£ (player) S PTS 3 POINT 2 POINT FT PF
AT 58 0 0 0 0 2
WwE IEH * 10 0 4 2 1

7| WA BHE * 8 1 1 3 4

10|54 #= Vi 0 1 0 3

12 | 4 HAKEB * 0 0 0 0 2

13 | /MiE $Eth * 17 4 2 1 1

21 | # FX 0 0 0 0 1

27 | B HFE 5 1 1 0 1

2| =% =F 0 0 0 0 2

4| k¥ BEEE 6 2 0 0 2

3B | EE &HZ * 0 0 0 0 2

37| HE 1 2 0 1 0 0

& = 50 8 10 6 21

S(R94v) :PTS (#818 &) 1 3POINT (FETh%K) : 2POINT (BX Thk)

FT(Z)—xB8—):PF(I79)
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